	
3GPP TSG-CT WG4 Meeting #101-bis-e	C4-210064
E-Meeting, 25th – 29th January 2021

Source:	ZTE
Title:	Key Issue of PFCP Efficiency for Combined Node
Spec:	3GPP TR29.820
Agenda item:	6.1.3 / BEPoP
Document for:	Approval

1. Introduction
This contribution proposes to introduce a key issue related to improving the PFCP efficiency for combined node.
2. Proposal
It is proposed to agree the following changes to 3GPP TR29.820 v0.3.0.

*******
* * * First Change * * * *
[bookmark: _Toc42763475][bookmark: _Toc44339299]5.X	Key Issue #X: PFCP Efficiency for Combined Node
[bookmark: _Toc22552194][bookmark: _Toc22930359][bookmark: _Toc22987227][bookmark: _Toc23256813][bookmark: _Toc25353537][bookmark: _Toc25918783][bookmark: _Toc31011400][bookmark: _Toc43297398]5.X.1	Description of the use case
Combined nodes are deployed widely in operator network in various scenarios to reduce deployment complexity. For example, in an enterprise domain network, combined CP Function (SGW-C+PGW-C) and combined UP Function are normally deployed. Another example is in EPS interworking scenario the PGW-C and SMF are required to be combined together.
In TS29.244 it states that a single PFCP session may possibly be setup for both the SGW-U and PGW-U in the combined UP Function. However it relies on the possibility of knowing the peer node is a combined node.
In most cases of inter-operation between CP/UP Functions from different vendors, it is not easy for the CP/UP Function to know whether the peer node is a combined node. Thus the PFCP association and PFCP session are normally established separately in this case. Although this model (i.e. separate PFCP association and separate PFCP session) looks simple, but it consumes more resources (e.g. CPU, internal storage, etc.) thus it reduces the system efficiency.
[bookmark: _GoBack]To support inter-operation efficiency requirement from operators, it is better to improve the efficiency of PFCP handling for the scenario where combined nodes from different vendors are deployed.
5.X.2	Key issue definition
This key issue will study the following aspects:
-	How to identify the peer node is a combined node (SGW-C+PGW-C, SGW-U+PGW-U, PGW-C+SMF, PGW-U+UPF)?
-	How to avoid establishing duplicated PFCP association or PFCP session for combined node?
* * * End of Changes * * * *

